

UNIVERSITY OF THE PHILIPPINES LOS BANOS

Los Banos, IV-A VAT Reg. TIN: 000-864-006-00004

Request for Quotation/ Bid Form (Technical Specifications) END-USER: ANIMAL SCIENCE

UPLE BAC SECRETARIAT
BY: DATE: 47 APR 1 3 2021-TIL UPLB-RQ- 4-099-21-RES DEADLNE OF SUBMISSION

> DEADLINE OF SUBMISSION:

Suppliers Name:	Date	March 16, 2021	
	Fund Code: MOP:	Trust Fund (184)/ FC:N9-228-21	
	Contact No: Contact Person	0920-872-4363 Anghelee Grace D. Calongcalong	

Please quote your lowest price on the item/s listed below, subject to the General Conditions below.

- 1. Bidders shall provide correct and accurate information required in this form. All entries must be typewritten or in print and properly accomplished. Do not leave blank entries, put N/A for not applicable.
- 2. Price quotation/s to be denominated in Philippine Peso shall include all taxes, duties, and/ or levies payable.
 3. Bidders must indicate the BRAND and MODEL NUMBER for equipment and its accessories or peripherals. Evidence shall be in the form of manufacturer's un-amended sale literature, unconditional statement of specification and compliance issued by the manufacturer and sample.
 4. Quotation through fax/email is accessible. Winning bidder shall submit original signed RQ before issuance of Puchase order (P.O.).
 5. Quotations exceeding the Appoved Budget for Contract shall be rejected.
 6. Documentary requirements per Memorandum No. 03 Series of 2017 shall be attached upon submission of the quotation

ITEM No.	GENERAL NAME OF THE	REQUIRED SPECIFICATIONS	UNIT OF MEASURE	QTY	ESTIMATED UNIT APPROVED BUDGET OF THE CONTRACT	ESTIMATED TOTAL APPROVED BUDGET OF THE CONTRACT	OFFERED SPECIFICATION Suppliers must state here the detailed technical specifications of their offer against each of the individual parameters of each requirements	QUOTED UNIT PRICE	TOTAL QUOTED PRICE	EVALUATION (Leave this space blank, For BAC/ Evaluators only)
1	Waterers	Plastic poultry drinker with handle. Capacity with 1 litter.	piece	100	120.00	12000.00				
2	Linear Feeders	Plastic linear feeder for poultry with stainless steel wire. 12 inches long with 9 multi-grid division and connectible.	plece	48	50.00	2400.00				
3	Tube Feeders	Plastic tube feeder with handle, tube and plate. Capacity of 1 litter.	piece	100	120.00	12,000.00				
4	Raincoat	Heavy duty, reflective raincoat with hood. 100% waterproof and breathable.	piece	2	300.00	600.00				
5	Boots	Rubber boots, slip resistant, water proof, high-cut.	Pair	3	300.00	900.00				
6	Mosquito Net	Nylon mosquito net, durable. 225 x 150 x 150 cm	Piece	2	120.00	240.00				
7	Flashlight	Rechargeable LED flashlight. Battery capacity of 2800 Åh.	piece	3	300.00	900.00				
8	Rice Hulls	Fresh rice hull,	sack	20	50,00	1,000.00				
9	Wingband	Aluminum, Laser coded wing band for poultry.	Piece	3	500.00	1,500.00				
10	Legband	Plastic, retractable leg bands with codes.	piece	16	250.00	4,000.00				
	Wing band applicator plier	Stainless, heavy duty, applicator fit in standard wing band and leg band	Plece	2	800.00	1,600.00				
12	Chick paper roll	Continuous chick paper rolls, 80 GSM, 40 meters length	Roll	10	200.00	2,000.00				
13	Fishing net	1 inch hole, 7 ft to 8ft width	meter	28	100.00	2,800.00				
14	Incandescent bulb	50 W, frosted, lamp base E27	Piece	30	80.00	2,400.00				
15	Room thermometer	Analog Thermometer Hygrometer, wall-mounted, temperature range: 20-50 degrees celsius	Piece	5	120.00	600.00				
16		Water-proof with eyelet, durable, rubberize	Yard	5	480.00	2,400.00				

17	Board paint and brush	Odorless, color fading resistance, 100% acrylic, lead free paint, paint brush with comfort grip and excellent paint release	piece	1	1,500.00	1,500.00		
18	Round feed storage bins with lid	Drum with cover, multi- purpose, capacity of 20L	piece	5	250.00	1,250.00		
19	Plastic egg trays	Plastic, jumbo sized egg trays, easy to clean, and re- usable.	piece	50	27.00	1,350.00		
20	Round plastic laundry baskets	Round, plastic-made with cover; 31 x 41 x 47	piece	5	100.00	500.00		
21	Seedlings growing bag	UV resistant, PE polyethylene perforated bag, 7 x 7 x 14	pack	9	10.00	90.00		
22	Wooden pallet	Heavy duty solid pallet, capacity: 5 tons; 1200mm x 1000mm x 150mm	piece	4	150.00	600.00		

23	Digital platform weighing scale (cap 10kg)	Level indicator and foot screws to level the balance precisely, fitted as standard, to give the most accurate weighing results, Superior display size: digit height 40mm. Bright backlight for easy reading of weight, even from distance, Power supply: Integrated in balance. 230V/50Hz, AC-DC adapter 12V/1000mA, internal rechargeable battery 6v/4Ah, Capacity 10kg	рс	1	2,500.00	2,500.00			
24	Digital platform weighing scale (cap 3kg)	Large backlit LCD displays, digit height 24mm, Internal, resolution 1/600,000, Power supply: 220V, AC power, Internal reacharble battery 6v/4Ah, Capacity 3kg	pc	1	1,500.00	1,500.00			
25	Nest Basket	Hand woven rattan, durable, multi-purpose. Diameter 23 cm.	Piece	20	100.00	2,000.00			
26	Gas brooder lamps	Alloy; can support natural gas, methane, and LPG; size: 32.5 x 27.5 x 12.5 cm	unit	2	4000	8,000.00			
27	Chicken layer cage with frame, built-in feeder and waterer	Layer cages 14"x18" 4 heads capcity per cell, 6 feet, 4 doors - hotdip galvanized, PVC feeders, feeder connector, feeder endcap, automatic nipple drinker with drip cup and pvc pipe, Frame is hotdip galvanized installed every 36" long	unit	4	3750	15,000.00			
	TOTAL ABC					81,630.00			
	Reviewed and Checked By:								
	PAME	TOTAL QUOTED AMOUNT IN W	OKDS:						
		C TWG							

Please quote at your government price (including VAT) and state that the time within which you can make delivery. It will be appreciated if we can have your quotation in the office as soon as possible on or before the deadline stated herein.

ANGHELEE GRACE D. CALONGCALONG BUYER/ END-USER

TERMS AND CONDITIONS:

1. Price quotation/s shall be valid for a period of at least (30) calendar days from the date of submission.
2. In order to assure that manufacturing defects shall be corrected by supplier, a warranty security shall be required from the contract awardee for a minimum period of three (3) months, in the case of EXPENDABLE SUPPLIES, or a minimum of one (1) year warranty and two (2) to three (3) years extended warranty (if applicable) in the case of NON-EXPENDABLE SUPPLIES after acceptance by End-user of the delivered supplies.

3. Delivery period within ______calendar days,
4. Award of contract shall be made to the lowest quotation wich complies with the technical specifications, and other terms and condition stated herein
5. UPLB reserves the right to reject any or all offers as may be considered most advantageous to the University.
6. Any interlineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any of your duty authorized representativers.

Requirements for Suppliers (GPPB Resolution No. 21-2017)

	REQUIREMENTS	Shapping (Section 52)	Negatiated Procurement- Small Value Procurement (Section 53.9)	Negotiated Procurémént- Lease of Real Property or Venue (Section 53,10)	Negotisted Procurement- Scientific, Scholarly or Artistic Work, Exclusive Technology and Media Services (Section 53.6)	Negotiated Procurement- Emergency (Section 53.2)
Mayor's/Business Permit		/	/	/	/	/
PhilGEPS Registration Number		/	/	/	/	/
Professional license/ CV (consulting services)			/		/	
PCAB License (for Infrastructure)			/			
Income / Business tax returns (except for government agencies as lessor)			FOR ABC'S ABOVE 500K	/	,	FOR ABC'S ABOVE 50K

7 NFCC for Infrastructure with ABC above Ph500k		/		FOR ABC'S ABOVE 50K
After having carefully read and accepted Name of the Company:	your General Conditions, I/We quote you on the	tem at prices noted	l above.	
Address:			Tel. No. :	
Signature over Printed Name			Fax No. :	
of Representative:			Email Address:	
Position:			Date:	

FOR ABO'S ABOVE 50K

FOR ABC'S

6 Omnibus Swom Statement